

BID2019-81 RE-BID FOR LEAD SERVICE LINE REPLACEMENT PROJECT-PHASE 1A FOR THE CITY OF TRENTON AND EWING TOWNSHIP FOR THE CITY OF TRENTON,DEPARTMENT OF WATER AND SEWER					
NUMBER OF RESPONDENTS:	5				
NAME OF BIDDER	SPINIELLO COMPANIES	WATERS AND BUGBEE, INC.	SOUTH STATE, INC.	DEWCON, INC.	MONTANA CONSTRUCTION CORPORATION, INC.
ADDRESS	354 EISENHOWER PARKWAY LIVINGSTON, NJ 07039	75 SOUTH GOLD DRIVE HAMILTON, NJ 08810	P.O. BOX 432 BRIDGEPORT, NJ 08302	P.O. BOX 432 BASKING RIDGE, NJ 07920	80 CONTANT AVENUE LODI, NJ 07644
CONTACT NAME	EMIL J. SOLIMINE, PRESIDENT	CHARLES P. WATERS, EXECUTIVE V.P.	BARRY WIDRICK	RYAN C. DEWEY	USA S. BALLERINI
TELEPHONE	973-808-8383	609-584-1100 609-584-2200	856-451-5300 856-455-5461	908-832-5710 908-832-0764	973-478-5200 973-478-7604
FAX	973-808-9591				
E-MAIL	ESTIMATING@SPINIELLOCO.COM	BIDS@WATERSANDBUGBEE.COM	BWIDRICK@SOUTHSTATEINC.COM	RDEWEY@DEWCONINC.COM	LSANTAITE@MONTANACONSTRUCTIONINC.COM
DISCLOSURE OF OWNERSHIP STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
BID GUARANTEE	10% FEDERAL INSURANCE COMPANY W.P.O/A/ADRIANA GIAMMICHIELE	10% FIDELITY AND DEPOSIT COMPANY OF MARYLAND W.P.O/A/JANE L. FEDORCZYK	10% TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA W.P.O/A/DAWN MCFARLAND	10% PHILADELPHIA INDEMNITY INSURANCE COMPANY W.P.O/A/LISA NOSAL	10% GREAT AMERICAN INSURANCE COMPANY W.P.O/A/ MELISSA F. SCHMIDIG
CONSENT OF SURETY	FEDERAL INSURANCE COMPANY	FIDELITY AND DEPOSIT COMPANY OF MARYLAND	TRAVELERS CASUALTY AND SURETY COMPANY	PHILADELPHIA INDEMNITY INSURANCE COMPANY	GREAT AMERICAN INSURANCE COMPANY
PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND REQUIRED WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF EQUAL OPPORTUNITY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
PAY TO PLAY DISCLOSURE ADVISEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
HOLD HARMLESS AGREEMENT EQUIPMENT CERTIFICATION	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED
STATE TREASURER'S LIST OF DEBARRED,SUSPENDED AND DISQUALIFIED BIDDERS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICAN IRON AND STEEL REQUIREMENTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ASPHALT CEMENT AND FUEL PRICE INDEX	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-DISCRIMINATION CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NOTICE OF INTENT TO SUBCONTRACT	YES	YES	YES	YES	YES
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AFFIRMATIVE ACTION AFFIDAVIT	INCLUDED	N/A	N/A	INCLUDED	N/A
AFFIRMATIVE ACTION CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF COMPLIANCE WITH 41 CFR PART 50-2 AFFIRMATIVE ACTION PROGRAMS FROM BIDDER	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF COMPLIANCE WITH 41 CFR PART 50-2 AFFIRMATIVE ACTION PROGRAMS FROM SUB-CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A	N/A
LIST OF SUB-CONTRACTORS	WILLIAM J. GUARININ, INC.(PLUMBING)	COOPER PLUMBING&MECHANICAL,LLC(PLUMBING); ATLANTIC INFRARED,INC.(INFRARED REPAIR OF ASPHALT/MILLING AND PAVING);	FALASCA MECHANICAL INC. (PLUMBING)	DISTEFANO PLUMBING, INC.(PLUMBING)	SPARK ELECTRIC(ELECTRICIAN); AGS PLUMING & HEATING (PLUMBING)
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF NON-SEGREGATED FACILITIES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NEW JERSEY BUSINESS REGISTRATION CERTIFICATION FROM CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJPW CONTRACTOR REGISTRATION CERTIFICATE	CERT.#62325 EXP. 03/27/2020	CERT.#60176 EXP. 04/03/2020	CERT.#51407 EXP. 04/10/2020	CERT.#632659 EXP. 09/15/2021	CERT.#61752 EXP. 05/05/2020
NEW JERSEY BUSINESS REGISTRATION CERTIFICATE FROM SUB-CONTRACTORS	WILLIAM J. GUARININ, INC. (REQUIRED FROM AWARDED VENDOR)	COOPER PLUMBING&MECHANICAL,LLC(INCLUDED); ATLANTIC INFRARED,INC.(INCLUDED);	FALASCA MECHANICAL INC. (PLUMBING)	DISTEFANO PLUMBING, INC.(PLUMBING);(INCLUDED)	SPARK ELECTRIC(ELECTRICIAN)(INCLUDED); AGS PLUMING & HEATING (PLUMBING)(INCLUDED)
NJPW SUB-CONTRACTOR REGISTRATION CERTIFICATE	WILLIAM J. GUARININ, INC. (CERT.#603829 EXP. 04/01/2020)	COOPER PLUMBING&MECHANICAL,LLC(CERT.#628 848 EXP. 01/27/2021); ATLANTIC INFRARED,INC. (CERT.#640490 EXP. 09/18/2020)	FALASCA MECHANICAL INC. (PLUMBING); (CERT.#64699 EXP. 05/02/2021)	DISTEFANO PLUMBING, INC.(PLUMBING); (CERT.#603781 EXP. 03/10/2020)	SPARK ELECTRIC(ELECTRICIAN)(CERT.#608780 EXP. 08/02/2021); AGS PLUMING & HEATING (PLUMBING)
EIC FROM SUB-CONTRACTOR	WILLIAM J. GUARININ, INC. (REQUIRED FROM AWARDED VENDOR)	COOPER PLUMBING&MECHANICAL,LLC(REQUIRED FROM AWARDED VENDOR); ATLANTIC INFRARED,INC.(REQUIRED FROM AWARDED VENDOR)	FALASCA MECHANICAL INC. (PLUMBING)(REQUIRED FROM AWARDED VENDOR)	DISTEFANO PLUMBING, INC.(PLUMBING)	SPARK ELECTRIC(ELECTRICIAN); AGS PLUMING & HEATING (PLUMBING)(CERT.#603057 EXP. 11/11/2020)
PREVAILING WAGE STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	N/A	N/A	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
FIVE (5) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES	YES
TOTAL AMOUNT OF PROJECT	\$8,887,330.00 SEE ATTACHED BREAKDOWN OF PRICING PER ITEM	\$11,054,265.00 SEE ATTACHED BREAKDOWN OF PRICING PER ITEM	\$11,119,750.00 SEE ATTACHED BREAKDOWN OF PRICING PER ITEM	\$13,164,780.00 SEE BREAKDOWN OF PRICING PER ITEM	\$18,842,780.00 SEE ATTACHED BREAKDOWN OF PRICING PER ITEM
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE	NONE

SPINELLO

BID2019-81 (Re-Bid) Phase 1A

1

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	three thousand twenty five dollars and zero cents (write Unit Price in words)			\$ 3,025.00	\$ 2,450,250.00
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	three thousand dollars and zero cents (write Unit Price in words)			\$ 3,000.00	\$ 2,430,000.00
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	two thousand four hundred dollars and zero cents (write Unit Price in words)			\$ 2,400.00	\$ 864,000.00
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	two thousand four hundred dollars and zero cents (write Unit Price in words)			\$ 2,400.00	\$ 864,000.00
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	120	EACH		
	three thousand dollars and zero cents (write Unit Price in words)			\$ 3,000.00	\$ 360,000.00
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	two thousand eight hundred dollars and zero cents (write Unit Price in words)			\$ 2,800.00	\$ 168,000.00
1. C.	NEW CORP STOP AT MAIN	325	EACH		
	two hundred fifty dollars and zero cents (write Unit Price in words)			\$ 250.00	\$ 81,250.00
1. D.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	one thousand one hundred ninety nine dollars and zero cents (write Unit Price in words)			\$ 1,199.00	\$ 35,970.00
1. E.	WATER METER REPLACEMENT	650	EACH		
	seventy five dollars and zero cents (write Unit Price in words)			\$ 75.00	\$ 48,750.00
1. F.	BALL VALVE	1,170	EACH		
	one dollar and zero cents (write Unit Price in words)			\$ 1.00	\$ 1,170.00
1. G.	RIGHT OF ENTRY NOT GRANTED	200	EACH		
	one hundred dollars and zero cents (write Unit Price in words)			\$ 100.00	\$ 20,000.00
1. H.	ACCESS NOT PROVIDED	80	EACH		
	one hundred dollars and zero cents (write Unit Price in words)			\$ 100.00	\$ 8,000.00

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A BID2019-81 (Re-Bid) BASE BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	I. CURB STOP IN CONCRETE <u>one hundred twenty five dollars and zero cents</u> (write Unit Price in words)	900	EACH	\$ 125.00	\$ 112,500.00
1.	J. LONG-SIDE REPLACEMENT <u>four hundred dollars and zero cents</u> (write Unit Price in words)	650	EACH	\$ 400.00	\$ 260,000.00
2.	TEST PIT AT CURB STOP <u>one hundred forty nine dollars and zero cents</u> (write Unit Price in words)	500	EACH	\$ 149.00	\$ 74,500.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>seventy eight dollars and zero cents</u> (write Unit Price in words)	450	SY	\$ 78.00	\$ 35,100.00
3.	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>one dollars and zero cents</u> (write Unit Price in words)	6,000	SY	\$ 1.00	\$ 6,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ 8,719,490.00			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ eight million, seven hundred nineteen housand, four hundred ninety dollars and zero cents			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-81 (Re-Bid) SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>eighty dollars and zero cents</u> (write Unit Price in words)	400	CY	\$ 80.00	\$ 32,000.00
S-2A.	IMPORTED COMMON FILL <u>thirty dollars and zero cents</u> (write Unit Price in words)	40	CY	\$ 30.00	\$ 1,200.00
S-2B.	CRUSHED STONE <u>thirty five dollars and zero cents</u> (write Unit Price in words)	20	CY	\$ 35.00	\$ 700.00
S-2C.	DENSE-GRADED AGGREGATE <u>thirty two dollars and zero cents</u> (write Unit Price in words)	40	CY	\$ 32.00	\$ 1,280.00
S-2D.	FLOWABLE FILL <u>eighty dollars and zero cents</u> (write Unit Price in words)	10	CY	\$ 80.00	\$ 800.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>sixteen dollars and zero cents</u> (write Unit Price in words)	7,600	SY	\$ 16.00	\$ 121,600.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>twenty eight dollars and zero cents</u> (write Unit Price in words)	60	SY	\$ 28.00	\$ 1,680.00
S-3C.	GRAVEL DRIVEWAY <u>forty dollars and zero cents</u> (write Unit Price in words)	30	SY	\$ 40.00	\$ 1,200.00
S-3D.	BRICK OR ROCK PAVERS <u>forty five dollars and zero cents</u> (write Unit Price in words)	20	SY	\$ 45.00	\$ 900.00
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
				\$2,000	\$2,000
S-4.	MISC. CONCRETE <u>two hundred twenty four dollars and zero cents</u> (write Unit Price in words)	20	CY	\$ 224.00	\$ 4,480.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4) <u>\$ 167,840.00</u>					
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4) <u>\$ one hundred sixty seven thousand, eight hundred forty dollars and zero cents</u>					
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES <u>\$ 8,887,330.00</u>					
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS <u>\$ eight million, eight hundred eighty seven thousand, three hundred thirty dollars and zero cents</u>					

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME William J. Guarini, INC
ADDRESS 132 MALLORY AVENUE
CITY, STATE, ZIP JERSEY CITY, NJ 07304
TELEPHONE: 201.656.1530
FAX NO.
TRADE Plumbing
LICENSE NO. 36 BT01242800

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Waters & Bugbee

BID2019-81 (Re-Bid) Phase 1A

2

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	Two Thousand Six Hundred Thirty Dollars and Zero Cents (write Unit Price in words)			\$ 2,630.00	\$ 2,130,300.00
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	Three Thousand Three Hundred Dollars and Zero Cents (write Unit Price in words)			\$ 3,300.00	\$ 2,673,000.00
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	Two Thousand Seven Hundred Fifteen Dollars and Zero Cents (write Unit Price in words)			\$ 2,715.00	\$ 977,400.00
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	Three Thousand Six Hundred Fifty Five Dollars and Zero Cents (write Unit Price in words)			\$ 3,655.00	\$ 1,315,800.00
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	120	EACH		
	Four Thousand Two Hundred Eighty Dollars and Zero Cents (write Unit Price in words)			\$ 4,280.00	\$ 513,600.00
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	Four Thousand Four Hundred Twenty Five Dollars and Zero Cents (write Unit Price in words)			\$ 4,425.00	\$ 265,500.00
1. C.	NEW CORP STOP AT MAIN	325	EACH		
	Sixty Five Dollars and Zero Cents (write Unit Price in words)			\$ 65.00	\$ 21,125.00
1. D.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	Seven Hundred Ninety Dollars and Zero Cents (write Unit Price in words)			\$ 790.00	\$ 23,700.00
1. E.	WATER METER REPLACEMENT	650	EACH		
	Forty Dollars and Zero Cents (write Unit Price in words)			\$ 40.00	\$ 26,000.00
1. F.	BALL VALVE	1,170	EACH		
	Seventy Dollars and Zero Cents (write Unit Price in words)			\$ 70.00	\$ 81,900.00
1. G.	RIGHT OF ENTRY NOT GRANTED	200	EACH		
	Thirty Five Dollars and Zero Cents (write Unit Price in words)			\$ 35.00	\$ 7,000.00
1. H.	ACCESS NOT PROVIDED	80	EACH		
	Six Hundred Seventy Five Dollars and Zero Cents (write Unit Price in words)			\$ 675.00	\$ 54,000.00

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A BID2019-81 (Re-Bid) BASE BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	I. CURB STOP IN CONCRETE Six Hundred Eighty Dollars and Zero Cents (write Unit Price in words)	900	EACH	\$ 680.00	\$ 612,000.00
1.	J. LONG-SIDE REPLACEMENT Six Hundred Eighty Five Dollars and Zero Cents (write Unit Price in words)	650	EACH	\$ 685.00	\$ 445,250.00
2.	TEST PIT AT CURB STOP Nine Hundred Sixty Dollars and Zero Cents (write Unit Price in words)	500	EACH	\$ 960.00	\$ 480,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) Eighty One Dollars and Sixty Cents (write Unit Price in words)	450	SY	\$ 81.60	\$ 36,720.00
3.	B. FINAL PAVEMENT RESTORATION (Mill and Paving) Forty Nine Dollars and Zero Cents (write Unit Price in words)	6,000	SY	\$ 49.00	\$ 294,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ONE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL THREE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ 10,857,295.00			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ Ten Million Eight Hundred Fifty Seven Thousand Two Hundred Ninety Five Dollars and Zero Cents			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-81 (Re-Bid) SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET Twenty Dollars and Zero Cents (write Unit Price in words)	400	CY	\$ 20.00	\$ 8,000.00
S-2A.	IMPORTED COMMON FILL Fifty Dollars and Zero Cents (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00
S-2B.	CRUSHED STONE Eighty Dollars and Zero Cents (write Unit Price in words)	20	CY	\$ 80.00	\$ 1,600.00
S-2C.	DENSE-GRADED AGGREGATE Seventy Dollars and Zero Cents (write Unit Price in words)	40	CY	\$ 70.00	\$ 2,800.00
S-2D.	FLOWABLE FILL One Hundred Fifty Five Dollars and Zero Cents (write Unit Price in words)	10	CY	\$ 155.00	\$ 1,550.00
S-3A.	FINAL PAVEMENT CURB TO CURB Twenty Dollars and Fifty Cents (write Unit Price in words)	7,600	SY	\$ 20.50	\$ 155,800.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE One Hundred Ten Dollars and Zero Cents (write Unit Price in words)	60	SY	\$ 110.00	\$ 6,600.00
S-3C.	GRAVEL DRIVEWAY Ten Dollars and Zero Cents (write Unit Price in words)	30	SY	\$ 10.00	\$ 300.00
S-3D.	BRICK OR ROCK PAVERS Thirty Six Dollars and Zero Cents (write Unit Price in words)	20	SY	\$ 36.00	\$ 720.00
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE Seven Hundred Eighty Dollars and Zero Cents (write Unit Price in words)	20	CY	\$ 780.00	\$ 15,600.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 196,970.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ One Hundred Ninety Six Thousand Nine Hundred Seventy Dollars and Zero Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 11,054,265.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Eleven Million Fifty Four Thousand Two Hundred Sixty Five Dollars and Zero Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Cooper Plumbing & Mechanical LLC
 ADDRESS 40 Paterson Ave
 CITY, STATE, ZIP Hamilton, NJ 08691
 TELEPHONE: 609-586-1813
 FAX NO. 609-586-1814
 TRADE Plumbing
 LICENSE NO. Master Plumber 36BI01079000

NAME Atlantic Infrared, Inc.
 ADDRESS 5042 Industrial Road, Suite A
 CITY, STATE, ZIP Wall Twp, NJ 07727
 TELEPHONE: 732-899-8994
 FAX NO. 732-899-8644
 TRADE Mill & Paving / Asphalt Infrared Processes
 LICENSE NO. N/A

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A BID2019-81 (Re-Bid) BASE BID						
Item No.	Bid Item Description	Estimated Quantity	Units	Unit Price in Figures	Amount in Figures	
1. A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	<u>Four thousand dollars</u> (write Unit Price in words)	810	EACH	\$ 4,000.00	\$ 3,240,000.00	
1. A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	<u>Two thousand four hundred dollars</u> (write Unit Price in words)	810	EACH	\$ 2,400.00	\$ 1,944,000.00	
1. A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	<u>Three thousand three hundred dollars</u> (write Unit Price in words)	360	EACH	\$ 3,300.00	\$ 1,188,000.00	
1. A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	<u>Two thousand eight hundred dollars</u> (write Unit Price in words)	360	EACH	\$ 2,800.00	\$ 1,008,000.00	
1. B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	<u>Three thousand one hundred twenty-five dollars</u> (write Unit Price in words)	120	EACH	\$ 3,125.00	\$ 375,000.00	
1. B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	<u>Three thousand five hundred dollars</u> (write Unit Price in words)	60	EACH	\$ 3,500.00	\$ 210,000.00	
1. C. NEW CORP STOP AT MAIN	<u>Four hundred dollars</u> (write Unit Price in words)	325	EACH	\$ 400.00	\$ 130,000.00	
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<u>One thousand three hundred dollars</u> (write Unit Price in words)	30	EACH	\$ 1,300.00	\$ 39,000.00	
1. E. WATER METER REPLACEMENT	<u>Three hundred dollars</u> (write Unit Price in words)	650	EACH	\$ 300.00	\$ 195,000.00	
1. F. BALL VALVE	<u>One hundred seventy-five dollars</u> (write Unit Price in words)	1,170	EACH	\$ 175.00	\$ 204,750.00	
1. G. RIGHT OF ENTRY NOT GRANTED	<u>Sixty dollars</u> (write Unit Price in words)	200	EACH	\$ 60.00	\$ 12,000.00	
1. H. ACCESS NOT PROVIDED	<u>Three hundred fifty dollars</u> (write Unit Price in words)	80	EACH	\$ 350.00	\$ 28,000.00	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid-Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	I. CURB STOP IN CONCRETE <u>Two hundred dollars</u> (write Unit Price in words)	900	EACH	<u>\$ 200.00</u>	<u>\$ 180,000.00</u>
1.	J. LONG-SIDE REPLACEMENT <u>Eight hundred dollars</u> (write Unit Price in words)	650	EACH	<u>\$ 200.00</u>	<u>\$ 130,000.00</u>
2.	TEST PIT AT CURB STOP <u>Nine hundred fifty dollars</u> (write Unit Price in words)	500	EACH	<u>\$ 950.00</u>	<u>\$ 475,000.00</u>
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>Ten Dollars</u> (write Unit Price in words)	450	SY	<u>\$ 10.00</u>	<u>\$ 4,500.00</u>
3.	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Thirty-five dollars</u> (write Unit Price in words)	6,000	SY	<u>\$ 35.00</u>	<u>\$ 210,000.00</u>
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	<u>\$ 150,000</u>	<u>\$ 150,000</u>
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	<u>\$ 350,000</u>	<u>\$ 350,000</u>
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	<u>\$ 300,000</u>	<u>\$ 300,000</u>
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	<u>\$ 100,000</u>	<u>\$ 100,000</u>
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		<u>\$ 10,863,250.00</u>			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		<u>\$ Ten Million Eight Hundred Sixty-three thousand two hundred fifty dollars</u>			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-81 (Re-Bid) SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Fifty dollars</u> (write Unit Price in words)	400	CY	\$ 50.00	\$ 20,000.00
S-2A.	IMPORTED COMMON FILL <u>Thirty dollars</u> (write Unit Price in words)	40	CY	\$ 30.00	\$ 1,200.00
S-2B.	CRUSHED STONE <u>Fifty dollars</u> (write Unit Price in words)	20	CY	\$ 50.00	\$ 1,000.00
S-2C.	DENSE-GRADED AGGREGATE <u>Fifty dollars</u> (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00
S-2D.	FLOWABLE FILL <u>One hundred twenty dollars</u> (write Unit Price in words)	10	CY	\$ 120.00	\$ 1,200.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Thirty-one dollars</u> (write Unit Price in words)	7,600	SY	\$ 21.00	\$ 159,600.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Five hundred fifty dollars</u> (write Unit Price in words)	60	SY	\$ 550.00	\$ 33,000.00
S-3C.	GRAVEL DRIVEWAY <u>One hundred fifty dollars</u> (write Unit Price in words)	30	SY	\$ 150.00	\$ 4,500.00
S-3D.	BRICK OR ROCK PAVERS <u>Three, hundred dollars</u> (write Unit Price in words)	20	SY	\$ 300.00	\$ 6,000.00
S-3E.	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE <u>One thousand three hundred dollars</u> (write Unit Price in words)	20	CY	\$ 1,300.00	\$ 26,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 256,500.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two hundred fifty-five thousand five hundred dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 11,119,750.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Eleven million one hundred nineteen thousand seven hundred fifty dollars			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Fabasca Mechanical Inc
ADDRESS 3329 N. M.11 Rd.
CITY, STATE, ZIP Vineland, NJ 08360
TELEPHONE: 856.794.2010
FAX NO. _____
TRADE Plumber
LICENSE NO. 36B101039600

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Dewon

BID2019-81 (Re-Bid) Phase 1A

40

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH	\$ 4600.00	\$ 3726000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH	\$ 4600.00	\$ 3726000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH	\$ 4600.00	\$ 1656000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH	\$ 4600.00	\$ 1656000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	120	EACH	\$ 4600.00	\$ 1656000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH	\$ 4600.00	\$ 552000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. C.	NEW CORN STOP AT MAIN	325	EACH	\$ 4600.00	\$ 276000.00
	<i>Forty - Six Hundred Dollars</i> (write Unit Price in words)				
1. D.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH	\$ 50.00	\$ 1500.00
	<i>Fifty Dollars</i> (write Unit Price in words)				
1. E.	WATER METER REPLACEMENT	650	EACH	\$ 50.00	\$ 1500.00
	<i>One Hundred Dollars</i> (write Unit Price in words)				
1. F.	BALL VALVE	1,170	EACH	\$ 100.00	\$ 65000.00
	<i>One Hundred Dollars</i> (write Unit Price in words)				
1. G.	RIGHT OF ENTRY NOT GRANTED	200	EACH	\$ 100.00	\$ 117000.00
	<i>One Hundred Dollars</i> (write Unit Price in words)				
1. H.	ACCESS NOT PROVIDED	80	EACH	\$ 100.00	\$ 29000.00
	<i>One Hundred Dollars</i> (write Unit Price in words)				
				\$ 100.00	\$ 8000.00

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	I. CURB STOP IN CONCRETE <i>Fifty Dollars</i> (write Unit Price in words)	900	EACH		
1.	J. LONG-SIDE REPLACEMENT <i>One Hundred Dollars</i> (write Unit Price in words)	650	EACH	\$ 50.00	\$ 32,500.00
2.	TEST PIT AT CURB STOP <i>One Hundred Dollars</i> (write Unit Price in words)	500	EACH	\$ 100.00	\$ 50,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <i>Ninety Dollars</i> (write Unit Price in words)	450	SY	\$ 100.00	\$ 45,000.00
3.	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <i>One Dollar</i> (write Unit Price in words)	6,000	SY	\$ 90.00	\$ 540,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 1,00	\$ 600.00
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
				\$100,000	\$100,000

TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)

\$ 12,926,250.00

TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)

\$ *Twelve Million - Nine Hundred**Two - Six Thousand - Two Hundred Fifty Dollars*

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
CONTRACT NO. 2019-81 (Re-Bid)
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>Seventy Dollars</i> (write Unit Price in words)	400	CY	\$ 50.00	\$ 20,000.00
S-2A.	IMPORTED COMMON FILL <i>Forty Dollars</i> (write Unit Price in words)	40	CY	\$ 40.00	\$ 1,600.00
S-2B.	CRUSHED STONE <i>Forty Dollars</i> (write Unit Price in words)	20	CY	\$ 40.00	\$ 800.00
S-2C.	DENSE-GRADED AGGREGATE <i>Forty Dollars</i> (write Unit Price in words)	40	CY	\$ 40.00	\$ 1,600.00
S-2D.	FLOWABLE FILL <i>One Hundred & Fifty Dollars</i> (write Unit Price in words)	10	CY	\$ 40.00	\$ 400.00
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Twenty - One Dollars</i> (write Unit Price in words)	7,600	SY	\$ 150.00	\$ 1,140,000.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>Two Hundred Dollars</i> (write Unit Price in words)	60	SY	\$ 25.00	\$ 150,000.00
S-3C.	GRAVEL DRIVEWAY <i>One Dollar</i> (write Unit Price in words)	30	SY	\$ 200.00	\$ 12,000.00
S-3D.	BRICK OR ROCK PAVERS <i>Two Thousand Dollars</i> (write Unit Price in words)	20	SY	\$ 100.00	\$ 2,000.00
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$2,000	\$2,000
S-4.	MISC. CONCRETE <i>Two Hundred & Fifty Dollars</i> (write Unit Price in words)	20	CY	\$ 250.00	\$ 5,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 238,530.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two Hundred & Fifty - Eight Thousand One Hundred & Thirty Dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 13,164,730.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Thirteen Millions - One Hundred + Sixty - Four Thousand - Seven Hundred + Eight Dollars			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Distefano Plumbing , Inc.
ADDRESS 4580 Crosswicks - Hamilton Sq. Rd.
CITY, STATE, ZIP Trenton, NJ 08691
TELEPHONE: 609-581-1285
FAX NO. _____
TRADE Plumber
LICENSE NO. 36BI00608300

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Montana

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A
BID2019-81 (Re-Bid)
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	five thousand five hundred (write Unit Price in words) dollars no cents			\$ 5,500.	\$ 4,455,000.
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	six thousand dollars (write Unit Price in words) no cents			\$ 6,000.	\$ 4,860,000.
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	five thousand five hundred (write Unit Price in words) no cents			\$ 5,500.	\$ 1,980,000.
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	six thousand five hundred (write Unit Price in words) dollars no cents			\$ 6,000.	\$ 2,160,000.
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	120	EACH		
	six thousand dollars (write Unit Price in words) no cents			\$ 6,000.	\$ 720,000.
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	six thousand dollars (write Unit Price in words) no cents			\$ 6,000.	\$ 360,000.
1. C.	NEW CORP STOP AT MAIN	325	EACH		
	five hundred dollars (write Unit Price in words) no cents			\$ 500.	\$ 162,500.
1. D.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	one thousand five hundred (write Unit Price in words) dollars no cents			\$ 1,500.	\$ 45,000.
1. E.	WATER METER REPLACEMENT	650	EACH		
	one thousand dollars (write Unit Price in words) no cents			\$ 1,000.	\$ 650,000.
1. F.	BALL VALVE	1,170	EACH		
	one hundred dollars (write Unit Price in words) no cents			\$ 100.	\$ 117,000.
1. G.	RIGHT OF ENTRY NOT GRANTED	200	EACH		
	one dollar no cents (write Unit Price in words)			\$ 1.	\$ 200.
1. H.	ACCESS NOT PROVIDED	80	EACH		
	one dollar no cents (write Unit Price in words)			\$ 1.	\$ 80.

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A BID2019-81 (Re-Bid) BASE BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	I. CURB STOP IN CONCRETE <i>five hundred</i> one <i>dollars no cents</i> (write Unit Price in words)	900	EACH	\$ 500.	\$ 450,000.
1.	J. LONG-SIDE REPLACEMENT <i>one thousand dollars</i> one <i>no cents</i> (write Unit Price in words)	650	EACH	\$ 1,000.	\$ 650,000.
2.	TEST PIT AT CURB STOP <i>one thousand dollars</i> one <i>no cents</i> (write Unit Price in words)	500	EACH	\$ 1,000.	\$ 500,000.
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <i>one hundred dollars</i> one <i>no cents</i> (write Unit Price in words)	450	SY	\$ 100.	\$ 45,000.
3.	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <i>one hundred dollars</i> one <i>no cents</i> (write Unit Price in words)	6,000	SY	\$ 100.	\$ 600,000.
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ 18,654,780.			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ <i>Eighteen million six hundred</i> <i>fifty four thousand seven</i> <i>hundred eighty dollars no cents</i>			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-81 (Re-Bid) SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>fifty dollars no cents</i> (write Unit Price in words)	400	CY	\$ 50.	\$ 20,000.
S-2A.	IMPORTED COMMON FILL <i>fifty dollars no cents</i> (write Unit Price in words)	40	CY	\$ 50.	\$ 2,000.
S-2B.	CRUSHED STONE <i>fifty dollars no cents</i> (write Unit Price in words)	20	CY	\$ 50.	\$ 1,000.
S-2C.	DENSE-GRADED AGGREGATE <i>fifty dollars no cents</i> (write Unit Price in words)	40	CY	\$ 50.	\$ 2,000.
S-2D.	FLOWABLE FILL <i>two hundred dollars</i> (write Unit Price in words) <i>no cents</i>	10	CY	\$ 200.	\$ 2,000.
S-3A.	FINAL PAVEMENT CURB TO CURB <i>thirty dollars no cents</i> (write Unit Price in words)	7,600	SY	\$ 30.	\$ 228,000.
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>five hundred dollars</i> (write Unit Price in words) <i>no cents</i>	60	SY	\$ 500.	\$ 30,000.
S-3C.	GRAVEL DRIVEWAY <i>one hundred dollars</i> (write Unit Price in words) <i>no cents</i>	30	SY	\$ 100.	\$ 3,000.
S-3D.	BRICK OR ROCK PAVERS <i>one hundred dollars</i> (write Unit Price in words) <i>no cents</i>	20	SY	\$ 100.	\$ 2,000.
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
				\$2,000	\$2,000
S-4.	MISC. CONCRETE <i>two hundred dollars</i> (write Unit Price in words) <i>no cents</i>	20	CY	\$ 200.	\$ 4,000.
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 296, 296,000.			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ <i>Two hundred ninety six thousand</i> <i>dollars no cents</i>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 18,842,780.			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ <i>Eighteen million eight hundred</i> <i>forty two thousand seven</i> <i>hundred eighty dollar no cents</i>			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST SUB-CONTRACTORS

COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)

NAME See Spark Electric
 ADDRESS 7 Commerce St
 CITY, STATE, ZIP 3cmerville NJ 07830
 TELEPHONE: 908.534.9600
 FAX NO.
 TRADE Electrician
 LICENSE NO. 34EB00518300

NAME AGS Plumbing & Heating
 ADDRESS 59 lincoln Park
 CITY, STATE, ZIP Newark NJ
 TELEPHONE: 973.799.0300
 FAX NO.
 TRADE Plumber
 LICENSE NO. 36B100783900

NAME None
 ADDRESS
 CITY, STATE, ZIP
 TELEPHONE:
 FAX NO.
 TRADE HVAC
 LICENSE NO.

NAME None
 ADDRESS
 CITY, STATE, ZIP
 TELEPHONE:
 FAX NO.
 TRADE Steel
 LICENSE NO.

NAME None
 ADDRESS
 CITY, STATE, ZIP
 TELEPHONE:
 FAX NO.
 TRADE Other
 LICENSE NO.